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POPULATION STUDIES   

Paper – II 

 

Note : This paper contains fifty (50) objective type questions, each question carrying two (2) 

marks. Attempt all the questions. 

 

1. Which one is not matched correctly ? 

 (A) First Indian Census : 1872 

 (B) NFHS–III : 2002-03 

 (C) National Population Policy of India : 2000 

 (D) Counting of handicapped people in India’s Census : 2001 

 

2. In 2001 Census of India, children of which age-group are considered as illiterate ? 

 (A) 0 – 4  (B) 0 – 5  

 (C) 0 – 6  (D) 0 – 7  

 

3. Which one of the following countries conduct Census at 5 years interval ? 

 (A) UK (B) Canada 

 (C) India (D) Australia 

 

4. In the S-shaped growth curve, population increases rapidly after 

 (A) Negative acceleration phase (B) Positive acceleration phase 

 (C) Logarithmic phase (D) Zero population growth phase  

 

5. Which one of the following Index is not used to measure the extent of preference for 

ages ending with digit 0 and 5 ? 

 (A) Bogue’s Index (B) Myer’s Index 

 (C) Whipple’s Index (D) UN Age-sex Accuracy Index 

 

6. See the lists : 

 List-I  List-II 
(a) Arithmetic Growth Model (i) Pt = P0 ert 

(b) Geometric Growth Model (ii) Pt = P0 (1 + rt) 

(c) Exponential Growth Model (iii) Pt = P0(1 + r)t 

(d) Logistic Growth Model (iv) 
Pt = ABC

t
 

  (v) 
Pt = 

L

1 + e a + bt  

 Find out the correct combination as per code given below : 

 Code :  
  (a) (b) (c) (d)  

 (A) (v) (iv) (ii) (i) 

 (B) (ii) (i) (iv) (iii)  

 (C) (iv) (ii) (v) (i)  

 (D) (ii) (iii) (i) (v) 
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•Ö−ÖÃÖÓ�µÖÖ †¬µÖµÖ−Ö   
¯ÖÏ¿−Ö¯Ö¡Ö – II 

 

−ÖÖê™ü : ‡ÃÖ ¯ÖÏ¿−Ö¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ (50) ²ÖÆãü-×¾Ö�ú»¯ÖßµÖ ¯ÖÏ¿−Ö Æïü … ¯ÖÏŸµÖê�ú ¯ÖÏ¿−Ö �êú ¤üÖê (2) †Ó�ú Æïü … ÃÖ³Öß ¯ÖÏ¿−ÖÖë �êú ˆ¢Ö¸ü 
¤üß×•Ö‹ … 

 

1. �úÖî−Ö ÃÖÖ ÃÖÆüß ÃÖã́ Öê×»ÖŸÖ −ÖÆüà Æîü ? 
 (A) ¯ÖÏ£Ö´Ö ³ÖÖ¸üŸÖßµÖ •Ö−Ö)Ö*Ö−ÖÖ : 1872 

 (B) ‹−Ö ‹±ú ‹“Ö ‹ÃÖ – III : 2002-03 

 (C) ³ÖÖ¸üŸÖ �úß ¸üÖÂ™ÒüßµÖ •Ö−ÖÃÖÓ0µÖÖ −Öß×ŸÖ : 2000 

 (D) ³ÖÖ¸üŸÖ �úß •Ö−Ö)Ö*Ö−ÖÖ ´Öë ¿ÖÖ¸üß× ü̧�ú ºþ¯Ö ÃÖê †3Ö´Ö ¾µÖÛŒŸÖµÖÖë �úß ÃÖÓ0µÖÖ : 2001 
 

2. ³ÖÖ¸üŸÖ �úß 2001 •Ö−Ö)Ö*Ö−ÖÖ ´Öë, ×�úÃÖ †ÖµÖã ¾Ö)ÖÔ �êú ²Ö““Öê ×−Ö¸ü3Ö¸ü ÃÖ´Ö—Öê )Ö‹ ? 

 (A) 0 – 4  (B) 0 – 5  

 (C) 0 – 6  (D) 0 – 7  
 

3. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ ¤êü¿Ö ´Öë 5 ¾ÖÂÖÔ �êú †ÓŸÖ¸üÖ»Ö ¯Ö¸ü •Ö−Ö)Ö*Ö−ÖÖ �úß •ÖÖŸÖß Æîü ? 

 (A) µÖæ. �êú. (B) �ú−ÖÖ›üÖ 
 (C) ³ÖÖ¸üŸÖ (D) †ÖòÃ™Òêü×»ÖµÖÖ 
 

4. S-†Ö�úÖ¸ü �úß ¾Öé×¨ü ¾Ö�Îú ´Öë, •Ö−ÖÃÖÓ0µÖÖ ×�úÃÖ “Ö¸ü*Ö �êú ²ÖÖ¤ü ŸÖê•Öß ÃÖê ²ÖœÍüŸÖß Æîü ? 

 (A) Šú*ÖÖŸ´Ö�ú )Ö×ŸÖ¾Ö¬ÖÔ−Ö “Ö¸ü*Ö (B) ¬Ö−ÖÖŸ´Ö�ú )Ö×ŸÖ¾Ö¬ÖÔ−Ö “Ö¸ü*Ö 
 (C) »Ö¬Öã)Ö*Ö�úßµÖ “Ö¸ü*Ö (D) ¿Öæ−µÖ •Ö−ÖÃÖÓ0µÖÖ ¾Öé×¨ü �úÖ “Ö¸ü*Ö  
 

5. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ ÃÖæ“Ö�úÖÓ�ú �úÖê †ÖµÖã ×•ÖÃÖ�úÖ †Û−ŸÖ´Ö †Ó�ú 0 †Öî̧ ü 5 Æîü �êú ×»ÖµÖê †×¬Ö´ÖÖ−Ö �úß ÃÖß´ÖÖ �úÖ ´ÖÖ¯Ö 
�ú¸ü−Öê �êú ¾ÖÖÃŸÖê ˆ¯ÖµÖÖê)Ö −ÖÆüà ×�úµÖÖ •ÖÖŸÖÖ Æîü ? 

 (A) ²ÖÖò)Ö �úÖ ÃÖæ“Ö�úÖÓ�ú (B) ´ÖÖµÖ¸ü �úÖ ÃÖæ“Ö�úÖÓ�ú 
 (C) ×¾Ö¯¯Ö»Ö �úÖ ÃÖæ“Ö�úÖÓ�ú (D) ÃÖÓµÖãŒŸÖ ¸üÖÂ™Òü �úÖ †ÖµÖã-Ø»Ö)Ö µÖ£ÖÖ£ÖÔŸÖÖ ÃÖæ“Ö�úÖÓ�ú 
 

6. ÃÖæ×“ÖµÖÖë �úÖ ¤êü×0ÖµÖê : 
  ÃÖæ“Öß-I   ÃÖæ“Öß-II 

(a) )Ö×*ÖŸÖßµÖ ¾Öé×¨ü ´ÖÖò›ü»Ö (i) Pt = P0 ert 

(b) •µÖÖ×´ÖŸÖßµÖ ¾Öé×¨ü ´ÖÖò›ü»Ö (ii) Pt = P0 (1 + rt) 

(c) ‘ÖÖŸÖÖÓ�úß ¾Öé×¨ü ´ÖÖò›ü»Ö (iii) Pt = P0(1 + r)t 

(d) ŸÖ�Ôú)Ö×*ÖŸÖßµÖ ¾Öé×¨ü ´ÖÖò›ü»Ö (iv) 
Pt = ABC

t
 

  (v) 
Pt = 

L

1 + e a + bt  

 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•Ö‹ : 
 �úÖê›ü :  

  (a) (b) (c) (d)  
 (A) (v) (iv) (ii) (i) 
 (B) (ii) (i) (iv) (iii)  
 (C) (iv) (ii) (v) (i)  
 (D) (ii) (iii) (i) (v) 
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7. Which one of the following method is used to check the completeness of vital 

registration data ? 

 (A) Bongaart’s Method 

 (B) Srinivasan’s Method 

 (C) Chandrasekharan-Deming Method 

 (D) Myer’s Method  

 

8. The birth interval not involving the period of post-partum amenorrhoea (ppa) is called  

 (A) Closed birth interval (B) Forward birth interval 

 (C) Straddling birth interval (D) First birth interval 

 

9. Which one of the following is correctly matched ? 

 (A) World’s 4 billion population … 1973 

 (B) World’s 5 billion population … 1986 

 (C) World’s 6 billion population … 1998 

 (D) India’s first billion population .. 2000 

 

10. The four most densely populated States in India in their descending order in 2001 are : 

 (A) West Bengal, Uttar Pradesh, Bihar, Kerala 

 (B) Uttar Pradesh, Bihar, Kerala, West Bengal 

 (C) West Bengal, Bihar, Kerala, Uttar Pradesh 

 (D) Bihar, West Bengal, Uttar Pradesh, Kerala 

 

11. Given below are two statements, one labelled as Assertion (A) and the other is labelled 

as Reason (R) : 

 Assertion (A) : Punjab has the lowest sex ratio (F/M) of child population in the age 

group 0 – 6. 

 Reason (R) : Sex selective abortions contribute to feminine sex ratio in child 

population. 

 In the context of the two statements, which one of the following is correct ? 

 (A) Both (A) and (R) are correct and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are correct but (R) is not the correct explanation of (A). 

 (C) (A) is true but (R) is false. 

 (D) (A) is false but (R) is true.  
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7. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ ¯Ö¨ü×ŸÖ �úÖê •Ö−´Ö ´ÖéŸµÖã ¯ÖÓ•ÖßµÖ−Ö ÃÖ´²Ö−¬Öß †ÖÑ�ú›ÍüÖë �úß ¯Öæ*ÖÔŸÖÖ �úß •ÖÖÑ“Ö �ú¸ü−Öê �êú ×»ÖµÖê ˆ¯ÖµÖÖê)Ö 
×�úµÖÖ •ÖÖŸÖÖ Æîü ? 

 (A) ²ÖÖò−Ö)ÖÖ™Ôü �úß ¯Ö¨ü×ŸÖ  

 (B) ÁÖß×−Ö¾ÖÖÃÖ−Ö �úß ¯Ö¨ü×ŸÖ 

 (C) “Ö−¦ü¿Öê0Ö¸ü−ÖË-›êüØ´Ö)Ö ¯Ö¨ü×ŸÖ 

 (D) ´ÖÖµÖ¸ü �úß ¯Ö¨ü×ŸÖ 

 

8. ×•ÖÃÖ •Ö−´Ö †−ŸÖ¸üÖ»Ö �êú ÃÖÖ£Ö ¯ÖÏÃÖ¾ÖÖê¢Ö¸ü †−ÖÖŸÖÔ¾Ö �úÖ �úÖ»Ö −ÖÆüà •Öã›ÍüÖ ÆüÖêŸÖÖ Æîü ˆÃÖê �úÆüŸÖê Æïü  

 (A) ²Ö−¤ü •Ö−´Ö †ÓŸÖ¸üÖ»Ö (B) †)ÖÏ •Ö−´Ö †ÓŸÖ¸üÖ»Ö 

 (C) Ã™îü›üØ»Ö)Ö •Ö−´Ö †ÓŸÖ¸üÖ»Ö (D) ¯ÖÏ£Ö´Ö •Ö−´Ö †ÓŸÖ¸üÖ»Ö 

 

9. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß ÃÖã́ Öê×»ÖŸÖ Æîü ? 

 (A) ×¾Ö¿¾Ö �úß 4 †¸ü²Ö •Ö−ÖÃÖÓ0µÖÖ … 1973 

 (B) ×¾Ö¿¾Ö �úß 5 †¸ü²Ö •Ö−ÖÃÖÓ0µÖÖ … 1986 

 (C) ×¾Ö¿¾Ö �úß 6 †¸ü²Ö •Ö−ÖÃÖÓ0µÖÖ … 1998 

 (D) ³ÖÖ¸üŸÖ �úß ¯ÖÏ£Ö´Ö †¸ü²Ö •Ö−ÖÃÖÓ0µÖÖ .. 2000 

 

10. ³ÖÖ¸üŸÖ ´Öë ÃÖ¾ÖÖÔ×¬Ö�ú ÃÖ‘Ö−ÖŸÖÖ ÃÖê †Ö²ÖÖ¤ü ¸üÖ•µÖ 2001 ´Öë †¯Ö−Öê †¾Ö¸üÖêÆüß �Îú´Ö ´Öë Æïü 

 (A) ¯ÖÛ¿“Ö´Öß ²ÖÓ)ÖÖ»Ö, ˆ¢Ö¸ü ¯ÖÏ¤êü¿Ö, ×²ÖÆüÖ ü̧, �êú¸ü»Ö 

 (B) ˆ¢Ö¸ü ¯ÖÏ¤êü¿Ö, ×²ÖÆüÖ¸ü, �êú¸ü»Ö, ¯ÖÛ¿“Ö´Öß ²ÖÓ)ÖÖ»Ö 

 (C) ¯ÖÛ¿“Ö´Öß ²ÖÓ)ÖÖ»Ö, ×²ÖÆüÖ¸ü, �êú¸ü»Ö, ˆ¢Ö¸ü ¯ÖÏ¤êü¿Ö 

 (D) ×²ÖÆüÖ¸ü, ¯ÖÛ¿“Ö´Öß ²ÖÓ)ÖÖ»Ö, ˆ¢Ö¸ü ¯ÖÏ¤êü¿Ö, �êú¸ü»Ö 

 

11. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü, ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) †Öî̧ ü ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÖ −ÖÖ´Ö ×¤üµÖÖ )ÖµÖÖ Æîü : 

 †×³Ö�ú£Ö−Ö (A) : ¯ÖÓ•ÖÖ²Ö ´Öë 0 – 6 ¾ÖÂÖÖí �êú †ÖµÖã ¾Ö)ÖÔ ´Öë ²ÖÖ»Ö •Ö−ÖÃÖÓ0µÖÖ �úÖ Ø»Ö)Ö †−Öã¯ÖÖŸÖ (´Ö×Æü»ÖÖ/¯Öã¹ýÂÖ) 
×−Ö´−ÖŸÖ´Ö Æîü … 

 ŸÖ�Ôú (R) : Ø»Ö)Ö “ÖµÖ−ÖÖŸ´Ö�ú )Ö³ÖÔ¯ÖÖŸÖ, ²ÖÖ»Ö •Ö−ÖÃÖÓ0µÖÖ ´Öë Ã¡Öß¾ÖÖ“Öß Ø»Ö)Ö �êú ¯ÖÏ×ŸÖ µÖÖê)Ö¤üÖ−Ö �ú¸üŸÖÖ Æîü …  

 ˆŒŸÖ ¤üÖê �ú£Ö−ÖÖë �êú ÃÖÓ¤ü³ÖÔ ´Öë, ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 

 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî̧ ü (R), (A) �úÖ ÃÖÆüß Ã¯ÖÂ™üß�ú¸ü*Ö Æîü … 

 (B) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü−ŸÖã (R), (A) �úÖ ÃÖÆüß Ã¯ÖÂ™üß�ú¸ü*Ö −ÖÆüà Æîü … 

 (C) (A) ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) †ÃÖŸµÖ Æîü … 

 (D) (A) †ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) ÃÖŸµÖ Æîü … 
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12. Match the given period with phases of transition of India’s population growth during 

the 20
th

 Century. Indicate the correct combination of answer according to the code : 

 List-I  

(Period) 

 List-II 

(Phases of demographic transition) 

I. 1901-1921 (1) Steady growth 

II. 1921-1951 (2) Stagnant 

III. 1951 – 1981  (3) High growth 

IV. 1981 – 2001 (4) Rapid high growth 

  (5) High growth with definite signs of slowing down 

 Code :  

  I II III IV  

 (A) (2) (1) (3) (4) 

 (B) (1) (3) (4) (5) 

 (C) (2) (1) (4) (5)  

 (D) (1) (2) (3) (4) 

 

13. Which one of the following is a biological factor affecting fertility ? 

 (A) Age at marriage (B) Fecundability 

 (C) Use of contraceptives (D) Migration  

 

14. Match Group-I with Group-II : 

 Group-I  Group-II 

(a) Pearls (i) Definition of pregnancy rate 

(b) Srinivasan (ii) Open birth interval 

(c) Davis and Blake (iii) Proximate determinant of 

fertility 

(d) Bongaarts (iv) Intermediate variable framework 

 Find the correct combination of answer as per code given below : 

 Code :  

  (a) (b) (c) (d)  

 (A) (ii) (iv) (iii) (i) 

 (B) (i) (ii) (iv) (iii)  

 (C) (iv) (iii) (ii) (i)  

 (D) (iii) (i) (iv) (ii) 

 

15. Birth Interval between the survey point and following birth is called 

 (A) Open birth interval (B) Closed birth interval 

 (C) Forward birth interval (D) Straddling birth interval 
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12. 20 ¾Öà ¿ÖŸÖÖ²¤üß �êú ¤üÖî̧ üÖ−Ö ³ÖÖ¸üŸÖ �úß •Ö−ÖÃÖÓ0µÖÖ ¾Öé×¨ü �êú ÃÖÓ�Îú´Ö*Ö �êú “Ö¸ü*ÖÖë �êú ÃÖÖ£Ö �úÖ»Ö �úÖ ×´Ö»ÖÖ−Ö �úß×•Ö‹, �úÖê›ü 
�úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ Æüß ÃÖ´Öã““ÖµÖ ²ÖŸÖÖ‡µÖê : 

 ÃÖæ“Öß-I  

(�úÖ»Ö) 

 ÃÖæ“Öß-II  

(•Ö−ÖÖÓ×�ú�úßµÖ ÃÖÓ�Îú´Ö)Ö �úÖ “Ö ü̧)Ö) 
I. 1901-1921 (1) ×−ÖµÖ×´ÖŸÖ ¾Öé×¨ü 
II. 1921-1951 (2) )Ö×ŸÖÆüß−Ö 
III. 1951 – 1981  (3) †×¬Ö�ú ¾Öé×¨ü 
IV. 1981 – 2001 (4) ŸÖê•Öß ÃÖê †×¬Ö�ú ¾Öé×¨ü 

  (5) ¬Öß´ÖÖ ÆüÖê−Öê �êú ×−ÖÛ¿“ÖŸÖ ×“ÖÅ−ÖÖë �êú ÃÖÖ£Ö †×¬Ö�ú ¾Öé×¨ü 

 �úÖê›ü :  

   I II III IV  

 (A) (2) (1) (3) (4) 

 (B) (1) (3) (4) (5) 

 (C) (2) (1) (4) (5)  

 (D) (1) (2) (3) (4) 

 

13. ¯ÖÏ•Ö−Ö−Ö 3Ö´ÖŸÖÖ �úÖê ¯ÖÏ³ÖÖ×¾ÖŸÖ �ú¸ü−Öê ¾ÖÖ»ÖÖ �úÖî−Ö ÃÖÖ •Öî×¾Ö�ú �úÖ¸ü�ú Æîü ? 

 (A) ×¾Ö¾ÖÖÆü �êú ÃÖ´ÖµÖ ¯Ö¸ü †ÖµÖã (B) ²ÖÆãü ¯ÖÏ•ÖŸÖÖ (±úß�Óú›êü×²Ö×»Ö™üß) 

 (C) )Ö³ÖÔ ×−Ö¸üÖê¬Ö�úÖë �úÖ ˆ¯ÖµÖÖê)Ö (D) ¯ÖÏ¾ÖÃÖ−Ö  
 

14. ¾Ö)ÖÔ-I �úÖê ¾Ö)ÖÔ-II �êú ÃÖÖ£Ö ´Öê×»ÖŸÖ �úß×•ÖµÖê : 
  ¾Ö,ÖÔ-I   ¾Ö,ÖÔ-II 

(a) ¯Ö»ÃÖÔ (i) )Ö³ÖÖÔ¾ÖÃ£ÖÖ ¤ü̧ ü �úß ¯Ö×¸ü³ÖÖÂÖÖ 
(b) ÁÖß×−Ö¾ÖÖÃÖ−Ö (ii) ×¾Ö¾ÖéŸÖ (0Öã»ÖÖ) •Ö−´Ö †ÓŸÖ¸üÖ»Ö 
(c) ›êü×¾ÖÃÖ ‹¾ÖÓ ²»Öî�ú (iii) ¯ÖÏ•Ö−Ö−Ö 3Ö´ÖŸÖÖ �êú †−Öã́ ÖÖ×−ÖŸÖ ×−Ö¬ÖÖÔ̧ ü�ú 
(d) ²ÖÖò−Ö)ÖÖ™ÔüÃÖË (iv) ´Ö¬µÖ¾ÖŸÖá “Ö ü̧ ºþ¯Ö¸êü0ÖÖ 

 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•ÖµÖê : 

 �úÖê›ü :  

  (a) (b) (c) (d)  

 (A) (ii) (iv) (iii) (i) 

 (B) (i) (ii) (iv) (iii)  

 (C) (iv) (iii) (ii) (i)  

 (D) (iii) (i) (iv) (ii) 

 

15. ÃÖ¾Öì3Ö*Ö ×²Ö−¤ãü †Öî̧ ü ˆÃÖ�êú ²ÖÖ¤ü �êú •Ö−´Ö �êú ²Öß“Ö †ÓŸÖ¸üÖ»Ö �úÆü»ÖÖŸÖÖ Æîü  

 (A) ×¾Ö¾ÖéŸÖ •Ö−´Ö †ÓŸÖ¸üÖ»Ö (B) ²Ö−¤ü •Ö−´Ö †ÓŸÖ¸üÖ»Ö 

 (C) †)ÖÏ •Ö−´Ö †ÓŸÖ ü̧Ö»Ö (D) Ã™îü›üØ»Ö)Ö •Ö−´Ö †ÓŸÖ¸üÖ»Ö 
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16. Which one of the following is not a measure of fertility ? 

 (A) ASFR (B) GFR 

 (C) CPR (D) TFR 

 

17. Which State has the highest percentage of obese women in age group 15 – 49 ? 

 (A) Kerala (B) Goa 

 (C) Tamil Nadu (D) Punjab 

 

18. Which one of the following has window period ? 

 (A) T.B. (B) STD 

 (C) RTI (D) HIV 

 

19. Which one of the following is a good estimate of person-years lived in a given year ? 

 (A) Population at the beginning of the year 

 (B) Population at the middle of the year 

 (C) Population at the end of third quarter of the year 

 (D) Population at the end of the year  

 

20. Match the Group-I with Group-II : 

 Group-I  Group-II 

(a) Post neonatal mortality (i) Deaths within 28 days of life 

(b) Neonatal mortality (ii) Deaths within first year of life 

(c) Infant mortality (iii) Deaths during 1 – 4 years of life 

(d) Child mortality (iv) Deaths within 7 days after delivery 

  (v) Deaths during 29 to 365 days of life 

 Find the correct combination of answer as per code given below : 

 Code :  

  (a) (b) (c) (d)  

 (A) (i) (ii) (iii) (iv) 

 (B) (v) (i) (ii) (iii)    

 (C) (ii) (iii) (iv) (v) 

 (D) (iv) (v) (i) (ii) 

 

21. The country of origin of Swine Flu is 

 (A) Mexico (B) Gautemala 

 (C) Nicaragua (D) Costa Rica  

 

22. For construction of a life table, the following are necessary : 

 1. Population be closed to migration 

 2. Radix be known 

 3. Average number of persons between two ages be known 

 4. Force of mortality at each age be known 

 Find the correct combination for a answer as per code given below : 

 Code : 

 (A) 1, 2 and 3 are correct (B) 2, 3 and 4 are correct 

 (C) 1, 2 and 4 are correct (D) 1, 3 and 4 are correct 
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16. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ¯ÖÏ•Ö−Ö−Ö 3Ö´ÖŸÖÖ �úÖ ´ÖÖ¯Ö −ÖÆüà Æîü ? 

 (A) ‹. ‹ÃÖ. ‹±ú. †Ö¸ü. (B) •Öß. ‹±ú. †Ö¸.ü 
 (C) ÃÖß. ¯Öß. †Ö¸.ü (D) ™üß. ‹±ú. †Ö¸.ü 
 

17. ×�úÃÖ ¸üÖ•µÖ ´Öë 15-49 ¾ÖÂÖÔ �êú †ÖµÖã ¾Ö)ÖÔ ´Öë ´ÖÖê™üß ÛÃ¡ÖµÖÖë �úÖ ¯ÖÏ×ŸÖ¿ÖŸÖ †×¬Ö�úŸÖ´Ö Æîü ? 

 (A) �êú¸ü»Ö (B) )ÖÖê¾ÖÖ 
 (C) ŸÖ×´Ö»Ö−ÖÖ›ãü (D) ¯ÖÓ•ÖÖ²Ö 
 

18. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ ¸üÖê)Ö ´Öë ¯ÖÖ¸ü¤ü¿Öá �úÖ»Ö (Ø¾Ö›üÖê ¯Öß×¸üµÖ›ü) ÆüÖêŸÖÖ Æîü ? 

 (A) ™üß. ²Öß. (B) ‹ÃÖ. ™üß. ›üß. 
 (C) †Ö¸ü. ™üß. †Ö‡Ô. (D) ‹“Ö. †Ö‡Ô. ¾Öß. 
 

19. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ¯ÖÏ¤ü¢Ö ¾ÖÂÖÔ ´Öë •Öß¾Ö−Ö ×²ÖŸÖÖ−Öê ¾ÖÖ»Öê ¾µÖÛŒŸÖµÖÖë - ¾ÖÂÖÖí �úÖ ˆ¢Ö´Ö †Ö�ú»Ö−Ö Æîü ? 

 (A) ¾ÖÂÖÔ �êú ¯ÖÏÖ ü̧´³Ö ´Öë •Ö−ÖÃÖÓ0µÖÖ  
 (B) ¾ÖÂÖÔ �êú ´Ö¬µÖ ´Öë •Ö−ÖÃÖÓ0µÖÖ  
 (C) ¾ÖÂÖÔ �êú ŸÖßÃÖ¸êü ×ŸÖ´ÖÖÆüß �êú †ÓŸÖ ´Öë •Ö−ÖÃÖÓ0µÖÖ  
 (D) ¾ÖÂÖÔ �êú †ÓŸÖ ´Öë •Ö−ÖÃÖÓ0µÖÖ 
 

20. ¾Ö)ÖÔ-I �úÖê ¾Ö)ÖÔ-II �êú ÃÖÖ£Ö ÃÖã́ Öê×»ÖŸÖ �úß×•ÖµÖê : 
 ¾Ö,ÖÔ-I    ¾Ö,ÖÔ-II 

(a) ¯ÖÏÃÖ¾ÖÖê¢Ö¸ü ´ÖéŸµÖã ¤ü¸ü (i) •Öß¾Ö−Ö �êú 28 ×¤ü−ÖÖë �êú †−¤ü¸ü ´ÖéŸµÖã 
(b) −Ö¾Ö•ÖÖŸÖ ×¿Ö¿Öã ´ÖéŸµÖã ¤ü¸ü (ii) •Öß¾Ö−Ö �êú ¯ÖÏ£Ö´Ö ¾ÖÂÖÔ �êú ³ÖßŸÖ¸ü ´ÖéŸµÖã 
(c) ×¿Ö¿Öã ´ÖéŸµÖã ¤ü¸ü (iii) •Öß¾Ö−Ö �êú 1-4 ¾ÖÂÖÖí �êú †−¤ü¸ü ´ÖéŸµÖã 
(d) ²ÖÖ»Ö ´ÖéŸµÖã ¤ü¸ü (iv) ¯ÖÏÃÖ¾Ö �êú ²ÖÖ¤ü 7 ×¤ü−ÖÖë �êú †−¤ü¸ü ´ÖéŸµÖã 

  (v) •Öß¾Ö−Ö �êú 29 ÃÖê 365 ×¤ü−ÖÖë �êú ¤üÖî¸üÖ−Ö ´ÖéŸµÖã 
 �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•ÖµÖê : 
 �úÖê›ü :  

  (a) (b) (c) (d)  

 (A) (i) (ii) (iii) (iv) 

 (B) (v) (i) (ii) (iii)    

 (C) (ii) (iii) (iv) (v) 

 (D) (iv) (v) (i) (ii) 
 

21. Ã¾ÖÖ‡−Ö °»Öæ �êú ˆ¤Ëü)Ö´Ö �úÖ ¤êü¿Ö Æîü 
 (A) ´ÖîÛŒÃÖ�úÖê (B) )¾ÖÖ™êü´ÖÖ»ÖÖ 
 (C) ×−Ö�úÖ¸Öü)Öã†Ö (D) �úÖòÃ™ü ¸üß�úÖ 
 

22. •Öß¾Ö−Ö ŸÖÖ×»Ö�úÖ ²Ö−ÖÖ−Öê �êú ×»ÖµÖê, ×−Ö´−ÖÖÓ×�úŸÖ †Ö¾Ö¿µÖ�ú Æîü : 
 1. •Ö−ÖÃÖÓ0µÖÖ �úÖ ¯ÖÏ¾ÖÃÖ−Ö ²ÖÓ¤ü ü̧Æêü … 

 2. ´Öæ»ÖÖÓ�ú –ÖÖŸÖ ÆüÖê … 

 3. ¤üÖê †ÖµÖã �êú ²Öß“Ö ¾µÖÛŒŸÖµÖÖë �úß †ÖîÃÖŸÖ ÃÖÓ0µÖÖ –ÖÖŸÖ ÆüÖê … 

 4. ¯ÖÏŸµÖê�ú †ÖµÖã ¯Ö¸ü ´ÖéŸµÖã ¤ü̧ ü �úß ¿ÖÛŒŸÖ �úß •ÖÖ−Ö�úÖ¸üß ÆüÖê … 
 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ ²ÖŸÖÖ‡µÖê : 
 �úÖê›ü : 
 (A) 1, 2 †Öî̧ ü 3 ÃÖÆüß Æïüü … (B) 2, 3 †Öî̧ ü 4 ÃÖÆüß Æïü … 

 (C) 1, 2 †Öî̧ ü 4 ÃÖÆüß Æïü… (D) 1, 3 †Öî̧ ü 4 ÃÖÆüß Æïü … 
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23. See the lists : 

 List-I  List-II 

(a) Child woman ratio (i) Mortality 

(b) Lexis diagram (ii) Fertility 

(c) Push-pull factors (iii) Migration 

(d) Intra-uterine Device (iv) Nupliality 

  (v) Family planning 

 Find out the correct combination as per given code : 

 Code :  

  (a) (b) (c) (d)  

 (A) (i) (iii) (v) (ii) 

 (B) (iii) (v) (ii) (i)    

 (C) (v) (ii) (i) (iv) 

 (D) (ii) (i) (iii) (v) 

 

24. Which State has the highest percent urban population in 2001 ? 

 (A) Goa (B) Mizoram 

 (C) Tamil Nadu (D) Maharashtra 

 

25. Lee theory of migration says that migration depends on 

 1. Factors associated with the place of origin 

 2. Factors associated with the place of destination 

 3. Population growth of the country 

 4. Personal factors 

 Find out the correct combination as per code given below : 

 Code : 

 (A) 1, 2 and 4 are correct (B) 1, 2 and 3 are correct 

 (C) 2, 3 and 4 are correct (D) 1, 2 and 4 are correct 

 

26. In Kerala, percentage of villages having more than 10,000 population is approximately 

 (A) 89 percent (B) 56 percent 

 (C) 60 percent (D) 33 percent 

 

27. Which one of the following terms is not associated with migration ? 

 (A) Push-pull factors (B) Place of destination 

 (C) Place of origin (D) Natural growth rate 
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23. −Öß“Öê ¤üß )Ö‡Ô ÃÖæ×“ÖµÖÖÑ ¤êü×0ÖµÖê : 
 ÃÖæ“Öß-I  ÃÖæ“Öß-II 

(a) ²ÖÖ»Ö Ã¡Öß †−Öã¯ÖÖŸÖ (i) ´ÖéŸµÖã ¤ü¸ü 
(b) »ÖêÛŒÃÖÃÖ ×“Ö¡Ö (ii) ¯ÖÏ•Ö−Ö−Ö 3Ö´ÖŸÖÖ 
(c) ¤üÖ²Ö-�úÂÖÔ*Ö �úÖ¸ü�ú (iii) ¯ÖÏ¾ÖÃÖ−Ö 
(d) †ÓŸÖ: )Ö³ÖÖÔ¿ÖµÖß ÃÖÖ¬Ö−Ö (iv) ¾Öî¾ÖÖ×Æü�úŸÖÖ 

  (v) ¯Ö×¸ü¾ÖÖ¸ü ×−ÖµÖÖê•Ö−Ö 

 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•ÖµÖê : 

 �úÖê›ü :  

  (a) (b) (c) (d)  

 (A) (i) (iii) (v) (ii) 

 (B) (iii) (v) (ii) (i)    

 (C) (v) (ii) (i) (iv) 

 (D) (ii) (i) (iii) (v) 

 

24. ×�úÃÖ ¸üÖ•µÖ ´Öë 2001 ´Öë −Ö)Ö¸üßµÖ •Ö−ÖÃÖÓ0µÖÖ �úÖ †×¬Ö�úŸÖ´Ö ¯ÖÏ×ŸÖ¿ÖŸÖ £ÖÖ ? 

 (A) )ÖÖê¾ÖÖ (B) ×´Ö•ÖÌÖȩ̂ ü´Ö 

 (C) ŸÖ×´Ö»Ö−ÖÖ›ãü (D) ´ÖÆüÖ¸üÖÂ™Òü 
 

25. ¯ÖÏ¾ÖÃÖ−Ö �úÖ »Öß ×ÃÖ¨üÖ−ŸÖ �úÆüŸÖÖ Æîü ×�ú ¯ÖÏ¾ÖÃÖ−Ö ×−Ö³ÖÔ̧ ü �ú¸üŸÖÖ Æîü : 

 1. ˆ¤Ëü)Ö´Ö Ã£ÖÖ−Ö �êú ÃÖÖ£Ö •Öã›Íêü �úÖ¸ü�úÖë ¯Ö¸ü 

 2. )Ö−ŸÖ¾µÖ Ã£ÖÖ−Ö ÃÖê •Öã›Íêü �úÖ¸ü�úÖë ¯Ö¸ü 

 3. ¤êü¿Ö �úß •Ö−ÖÃÖÓ0µÖÖ �úß ¾Öé×¨ü ¯Ö¸ü 

 4. ¾µÖÛŒŸÖ)ÖŸÖ �úÖ¸ü�úÖë ¯Ö¸ü 

 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•ÖµÖê : 

 �úÖê›ü : 

 (A) 1, 2 †Öî̧ ü 4 ÃÖÆüß Æïü … (B) 1, 2 †Öî̧ ü 3 ÃÖÆüß Æïü… 

 (C) 2, 3 †Öî̧ ü 4 ÃÖÆüß Æïü … (D) 1, 2 †Öî̧ ü 4 ÃÖÆüß Æïü … 
 

26. �êú¸ü»Ö ´Öë, ×•Ö−Ö )ÖÖÑ¾ÖÖë ´Öë 10,000 ÃÖê •µÖÖ¤üÖ •Ö−ÖÃÖÓ0µÖÖ Æîü ˆ−Ö�úÖ ¯ÖÏ×ŸÖ¿ÖŸÖ »Ö)Ö³Ö)Ö 

 (A) 89 ¯ÖÏ×ŸÖ¿ÖŸÖ Æîü … (B) 56 ¯ÖÏ×ŸÖ¿ÖŸÖ Æîü … 

 (C) 60 ¯ÖÏ×ŸÖ¿ÖŸÖ Æîü … (D) 33 ¯ÖÏ×ŸÖ¿ÖŸÖ Æîü … 

 

27. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ˆ¯Ö¾ÖÖŒµÖ ¯ÖÏ¾ÖÃÖ−Ö �êú ÃÖÖ£Ö ÃÖ´²ÖÛ−¬ÖŸÖ −ÖÆüà Æîü ? 

 (A) ¤üÖ²Ö-�úÂÖÔ*Ö �úÖ¸ü�ú (B) )Ö−ŸÖ¾µÖ �úÖ Ã£ÖÖ−Ö 

 (C) ˆ¤Ëü)Ö´Ö �úÖ Ã£ÖÖ−Ö (D) ¯ÖÏÖ�éú×ŸÖ�ú ¾Öé×¨ü ¤ü¸ü 
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28. What is the approximate share of urban population of India living in urban centres with 

one lakh and above population ? 

 (A) 48 percent (B) 58 percent 

 (C) 68 percent (D) 78 percent 

 

29. Match the following : 

  List-I    List-II 

(a) W. Christaller (i) Theory of Diffusion of Innovations 

(b) Hoyt (ii) City-hinterland relationship 

(c) Smailes (iii) Sector model of urban structure 

(d) Hagerstrand (iv) Central Place Theory 

 Code :  

  (a) (b) (c) (d)  

 (A) (i) (ii) (iv) (iii) 

 (B) (iii) (i) (iv) (ii)    

 (C) (iv) (iii) (ii) (i) 

 (D) (iii) (i) (ii) (iv) 

 

30. Demographic transition theory involved some of the following phases : 

 1. Phase I  : High birth rate and high death rate 

 2. Phase II  : Declining birth rate and declining death rate 

 3. Phase III  : Declining birth rate and low death rate 

 4. Phase IV  : Low birth rate and low death rate 

 Find out the correct combination for answer as per code : 

 Code : 

 (A) 1, 2 and 3 are correct (B) 1, 3 and 4 are correct 

 (C) 2, 3 and 4 are correct (D) 1, 2 and 4 are correct 

 

31. Which one of the following is not a preventive check to population ? 

 (A) Infanticide (B) Prostitution 

 (C) Celibacy  (D) Polygamy 

 

32. Which one of the following has not given a theory of population ? 

 (A) Malthus (B) Sagaza 

 (C) Marx (D) Mills  
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28. ³ÖÖ¸üŸÖ ´Öë, ‹�ú »ÖÖ0Ö †Öî̧ ü †×¬Ö�ú •Ö−ÖÃÖÓ0µÖÖ �êú −Ö)Ö¸üßµÖ �êú−¦üÖë ´Öë ²ÖÃÖ ¸üÆüß −Ö)Ö¸üßµÖ •Ö−ÖÃÖÓ0µÖÖ �úÖ ×ÆüÃÃÖÖ »Ö)Ö³Ö)Ö 
×�úŸÖ−ÖÖ Æîü ? 

 (A) 48 ¯ÖÏ×ŸÖ¿ÖŸÖ (B) 58 ¯ÖÏ×ŸÖ¿ÖŸÖ 

 (C) 68 ¯ÖÏ×ŸÖ¿ÖŸÖ (D) 78 ¯ÖÏ×ŸÖ¿ÖŸÖ 

 

29. ×−Ö´−ÖÖÓ×�úŸÖ �úÖ ×´Ö»ÖÖ−Ö �úß×•ÖµÖê : 

 ÃÖæ“Öß-I   ÃÖæ“Öß-II 

(a) ›ü²»µÖæ. ×�ÎúÃÖ™üÖò»Ö¸ü (i) †×³Ö−Ö¾Ö ¯Ö×¸ü¾ÖŸÖÔ−ÖÖë �êú ¯ÖÏÃÖÖ¸ü �úÖ ×ÃÖ¨üÖ−ŸÖ 

(b) ÆüÖòµÖŸÖ (ii) −Ö)Ö¸ü-¯ÖéÂšü ¯ÖÏ¤êü¿Ö ÃÖ´²Ö−¬Ö 

(c) ÃÖ´Öî»ÖÃÖ (iii) −Ö)Ö¸üßµÖ ÃÖÓ̧ ü“Ö−ÖÖ �úÖ 0ÖÓ›ü ´ÖÖò›ü»Ö 

(d) Æîü)Ö¸üÃ™Òëü›ü (iv) �êú−¦üßµÖ Ã£ÖÖ−Ö ×ÃÖ¨üÖ−ŸÖ 

 �úÖê›ü :  

  (a) (b) (c) (d)  

 (A) (i) (ii) (iv) (iii) 

 (B) (iii) (i) (iv) (ii)    

 (C) (iv) (iii) (ii) (i) 

 (D) (iii) (i) (ii) (iv) 

 

30. •Ö−ÖÖÓ×�ú�úßµÖ ÃÖÓ�Îú´Ö*Ö ×ÃÖ¨üÖ−ŸÖ ÃÖê �ãú”û ×−Ö´−ÖÖÓ×�úŸÖ “Ö¸ü*Ö •Öã›Íêü Æïü : 

 1. “Ö¸ü*Ö-I : ˆ““Ö •Ö−´Ö ¤ü̧ ü †Öî̧ ü ˆ““Ö ´ÖéŸµÖã ¤ü̧ ü  

 2. “Ö¸ü*Ö-II : �ú´Ö ÆüÖêŸÖÖ Æãü†Ö •Ö−´Ö ¤ü̧ ü †Öî̧ ü �ú´Ö ÆüÖêŸÖß Æãü‡Ô ´ÖéŸµÖã ¤ü¸ü 

 3. “Ö¸ü*Ö-III : �ú´Ö ÆüÖêŸÖÖ Æãü†Ö •Ö−´Ö ¤ü̧ ü †Öî̧ ü ×−Ö´−Ö ´ÖéŸµÖã ¤ü¸ü 

 4. “Ö¸ü*Ö-IV : ×−Ö´−Ö •Ö−´Ö ¤ü¸ü †Öî̧ ü ×−Ö´−Ö ´ÖéŸµÖã ¤ü¸ü 

 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•Ö‹ : 

 �úÖê›ü : 

 (A) 1, 2 †Öî̧ ü 3 ÃÖÆüß Æïü … (B) 1, 3 †Öî̧ ü 4 ÃÖÆüß Æïü … 

 (C) 2, 3 †Öî̧ ü 4 ÃÖÆüß Æïü … (D) 1, 2 †Öî̧ ü 4 ÃÖÆüß Æïü … 

 

31. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ •Ö−ÖÃÖÓ0µÖÖ �úÖ �éú×¡Ö´Ö ×−Ö¸üÖê¬Ö −ÖÆüà Æîü ? 

 (A) ×¿Ö¿ÖãÆüŸµÖÖ (B) ¾Öê¿µÖÖ¾Öé×¢Ö 

 (C) ²ÖÎÉ“ÖµÖÔ (†×¾Ö¾ÖÖ×ÆüŸÖ •Öß¾Ö−Ö) (D) ²ÖÆãü-×¾Ö¾ÖÖÆü ¯ÖÏ£ÖÖ 
 

32. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ−Öê •Ö−ÖÃÖÓ0µÖÖ �úÖ ×ÃÖ¨üÖ−ŸÖ −ÖÆüà ×¤üµÖÖ ? 

 (A) ´ÖÖ»£ÖÃÖ (B) ÃÖ)ÖÖ•ÖÌÖ 

 (C) ´ÖÖŒÃÖÔü (D) ×´Ö»ÃÖ 
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33. Match Group-I with Group-II 

 Group-I  Group -II 

(a) Social Capillarity Theory  (i) Caldwell 

(b) Logistic Growth of Population (ii) Doubleday 

(c) Wealth Flow Theory (iii) Dumont 

(d) Diet Principle (iv) Pearl and Reed 

 Find the correct combination for a answer as per code given below : 

 Code :  

  (a) (b) (c) (d)  

 (A) (iii) (iv) (i) (ii) 

 (B) (iv) (i) (ii) (iii)    

 (C) (i) (ii) (iii) (iv) 

 (D) (ii) (iii) (iv) (i) 

 

34. Which State has the highest percentage of population below the poverty line in 2001 ? 

 (A) Orissa (B) Sikkim 

 (C) Bihar (D) Madhya Pradesh 

 

35. Which one of the development schemes is most important for incorporating sustainable 

development strategy in rural India ? 

 (A) Providing employment to the rural poor. 

 (B) Improving accessibility. 

 (C) Providing remunerative price for agricultural produce. 

 (D) Adopting watershed as a unit of planning for integrated land and water 

management. 

 

36. Which one of the following States has the lowest value of Human Development Index ? 

 (A) West Bengal (B) Tamil Nadu 

 (C) Andhra Pradesh (D) Maharashtra 

 

37. Which one of the following indicators is not included in working out the composite 

Index of Human Development ? 

 (A) Per Capita State Domestic Product 

 (B) Percentage of urban population to total population 

 (C) Educational attainment 

 (D) Expectation of Life at Birth 

 

38. Which one of the following sequences is in correct order regarding acceptance of new 

ideas/methods in population and development ? 

 (A) Persuasion, knowledge, decision making, confirmation 

 (B) Knowledge, persuasion, decision making, confirmation  

 (C) Decision making, knowledge, confirmation, persuasion 

 (D) Persuasion, confirmation, knowledge, decision making  
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33. ¾Ö)ÖÔ-I �úÖê ¾Ö)ÖÔ-II �êú ÃÖÖ£Ö ÃÖã́ Öê×»ÖŸÖ �úß×•ÖµÖê : 
   ¾Ö,ÖÔ-I  ¾Ö,ÖÔ-II 

(a) ÃÖÖ´ÖÖ×•Ö�ú ˆŸ£ÖÖ−Ö¿Öß»ÖŸÖÖ ×ÃÖ¨üÖ−ŸÖ (i) �úÖ»›ü¾Öî»Ö 
(b) •Ö−ÖÃÖÓ0µÖÖ �úß »ÖÖò×•ÖÛÃ™ü�ú ¾Öé×¨ü (ii) ›ü²Ö»Ö›êü 
(c) ÃÖ´¯Ö¤üÖ ¯ÖÏ¾ÖÖÆü (¾Öî»£Ö °»ÖÖê) ×ÃÖ¨üÖ−ŸÖ (iii) ›ãü´ÖÖò−™ 
(d) ×−ÖµÖ×´ÖŸÖ †ÖÆüÖ¸ü ×ÃÖ¨üÖ−ŸÖ (iv) ¯Ö»ÖÔ †Öî̧ ü ¸üß›ü 

 −Öß“Öê ×¤üµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ –ÖÖŸÖ �úß×•ÖµÖê : 
 �úÖê›ü :  

  (a) (b) (c) (d)  

 (A) (iii) (iv) (i) (ii) 

 (B) (iv) (i) (ii) (iii)    

 (C) (i) (ii) (iii) (iv) 

 (D) (ii) (iii) (iv) (i) 
 

34. ×�úÃÖ ¸üÖ•µÖ ´Öë 2001 ´Öë )Ö ü̧ß²Öß ¸êü0ÖÖ ÃÖê −Öß“Öê •Ö−ÖÃÖÓ0µÖÖ �úÖ ¯ÖÏ×ŸÖ¿ÖŸÖ †×¬Ö�úŸÖ´Ö Æîü ? 

 (A) ˆ›ÍüßÃÖÖ (B) ×ÃÖÛŒ�ú´Ö 
 (C) ×²ÖÆüÖ¸ü (D) ´Ö¬µÖ ¯ÖÏ¤êü¿Ö 
 

35. �úÖî−Ö ÃÖß ×¾Ö�úÖÃÖ µÖÖê•Ö−ÖÖ )ÖÏÖ´Öß*Ö ³ÖÖ¸üŸÖ ´Öë ¬ÖÖ¸ü*ÖßµÖ (¤üß‘ÖÔ�úÖ×»Ö�ú) ×¾Ö�úÖÃÖ ¸ü*Ö−Öß×ŸÖ ×−Ö)Ö×´ÖŸÖ �ú¸ü−Öê �êú ×»ÖµÖê 
ÃÖ¾ÖÖÔ×¬Ö�ú ´ÖÆü¢¾Ö¯Öæ*ÖÔ Æïü ? 

 (A) )ÖÏÖ´Öß*Ö ×−Ö¬ÖÔ−Ö �úÖê ¸üÖê•Ö)ÖÖ¸ü ¯ÖÏ¤üÖ−Ö �ú¸ü−ÖÖ  
 (B) †×³Ö)Ö´µÖŸÖÖ ²ÖœÍüÖ−ÖÖ 
 (C) �éú×ÂÖ ˆŸ¯ÖÖ¤ü �úß »ÖÖ³Ö�úÖ¸üß �úß´ÖŸÖ ¯ÖÏ¤üÖ−Ö �ú¸ü−ÖÖ 
 (D) ‹�úß�éúŸÖ ³Öæ×´Ö ‹¾ÖÓ •Ö»Ö ¯ÖÏ²Ö−¬Ö �êú ×»ÖµÖê ×−ÖµÖÖê•Ö−Ö ‡�úÖ‡Ô �êú ºþ¯Ö ´Öë •Ö»Ö ×¾Ö³ÖÖ•Ö�ú (¾ÖÖ™ü¸ü ¿Öî›ü) ×¾Ö×¬Ö �úÖê 

†¯Ö−ÖÖ−ÖÖ 
 

36. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ ¸üÖ•µÖ ´Öë ´ÖÖ−Ö¾Ö ×¾Ö�úÖÃÖ ÃÖæ“Ö�úÖÓ�ú �úÖ ×−Ö´−ÖŸÖ´Ö ´Öæ»µÖ Æîü ? 
 (A) ¯ÖÛ¿“Ö´Öß ²ÖÓ)ÖÖ»Ö (B) ŸÖ×´Ö»Ö−ÖÖ›ãü 
 (C) †Ö−¬ÖÐ ¯ÖÏ¤êü¿Ö (D) ´ÖÆüÖ¸üÖÂ™Òü 
 

37. ×−Ö´−ÖÖÓ×�úŸÖ ÃÖÓ�êúŸÖ�úÖë ´Öë ÃÖê �úÖî−Ö ÃÖÖ ´ÖÖ−Ö¾Ö ×¾Ö�úÖÃÖ �úÖ ÃÖÓÛ¿»ÖÂ™ü ÃÖæ“Ö�úÖÓ�ú ×−Ö�úÖ»Ö−Öê ´Öë ÃÖÛ´´Ö×»ÖŸÖ −ÖÆüà ×�úµÖÖ •ÖÖŸÖÖ 
Æîü ? 

 (A) ¯ÖÏ×ŸÖ ¾µÖÛŒŸÖ ¸üÖ•Ö�úßµÖ ‘Ö¸êü»Öæ ˆŸ¯ÖÖ¤ü 
 (B) �ãú»Ö •Ö−ÖÃÖÓ0µÖÖ ´Öë −Ö)Ö¸üßµÖ •Ö−ÖÃÖÓ0µÖÖ �úÖ ¯ÖÏ×ŸÖ¿ÖŸÖ 
 (C) ¿Öî×3Ö�ú ˆ¯Ö»ÖÛ²¬Ö 
 (D) •Ö−´Ö ¯Ö¸ü •Öß¾Ö−Ö �úß ¯ÖÏŸµÖÖ¿ÖÖ 
 

38. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ †−Öã�Îú´Ö, •Ö−ÖÃÖÓ0µÖÖ †Öî̧ ü ×¾Ö�úÖÃÖ ´Öë −ÖæŸÖ−Ö ×¾Ö“ÖÖ¸üÖë / ¯Ö¨ü×ŸÖµÖÖë �êú †−Öã́ ÖÖê¤ü−Ö �êú ÃÖ´²Ö−¬Ö ´Öë 
ÃÖÆüß Æîü ? 

 (A) †×³Ö¯ÖÏȩ̂ ü*ÖÖ, –ÖÖ−Ö (•ÖÖ−Ö�úÖ¸üß), ×−Ö*ÖÔµÖ−Ö, ¯ÖãÛÂ™ü�ú¸ü*Ö 
 (B) –ÖÖ−Ö, †×³Ö¯ÖÏȩ̂ ü*ÖÖ, ×−Ö*ÖÔµÖ−Ö, ¯ÖãÛÂ™ü�ú¸ü*Ö  

 (C) ×−Ö*ÖÔµÖ−Ö, –ÖÖ−Ö, ¯ÖãÛÂ™ü�ú¸ü*Ö, †×³Ö¯ÖÏȩ̂ ü*ÖÖ 
 (D) †×³Ö¯ÖÏȩ̂ ü*ÖÖ, ¯ÖãÛÂ™ü�ú¸ü*Ö, –ÖÖ−Ö, ×−Ö*ÖÔµÖ−Ö 
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39. Given below are two statements, one labelled as Assertion (A) and the other labelled as 

Reason (R) : 

 Assertion (A) : Women in Kerala enjoy relatively high status.  

 Reason (R) : Divorce rate is high in Kerala. 

 In the context of the above two statements, which one of the following is correct ? 

 (A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are true but (R) is not the correct explanation of (A). 

 (C) (A) is true but (R) is false. 

 (D) (A) is false but (R) is true.  

 

40. Given below are two statements, one labelled as Assertion (A) and the other labelled as 

Reason (R) : 

 Assertion (A) : Number of nuclear families is increasing in India.  

 Reason (R) : Women’s status is increasing in India. 

 In the context of the above two statements, which one of the following is correct ? 

 (A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are true but (R) is not the correct explanation of (A). 

 (C) (A) is true but (R) is false. 

 (D) (A) is false but (R) is true.  

 

41. Which one of the following sequences is in correct ascending order based on Gender 

Health Index ? 

 (A) Rajasthan, Orissa, Assam, Bihar (B) Bihar, Assam, Orissa, Rajasthan 

 (C) Orissa, Rajasthan, Bihar, Assam (D) Assam, Bihar, Rajasthan, Orissa 

 

42. Given below are certain significant days and their dates of observation in a given year. 

Indicate the correct combination of answer according to the code : 

 List-I 

(Significant Days) 

 List-II 

(Dates of Observation) 

I. World Health Day (1) 21
st
 March 

II. World AIDS Day (2) 7
th

 April 

III. World Population Day (3) 11
th

 July 

IV. International Day of Older 

Persons 

(4) 1
st
 October 

  (5) 1
st
 December 

 Code :  

  I II III IV  

 (A) (5) (1) (2) (4) 

 (B) (2) (5) (3) (4)    

 (C) (1) (3) (2) (5) 

 (D) (4) (3) (5) (2) 
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39. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü, ‹�ú �úÖ −ÖÖ´Ö †×³Ö�ú£Ö−Ö (A) †Öî̧ ü ¤æüÃÖ¸êü �úÖ ŸÖ�Ôú (R) Æîü : 
 †×³Ö�ú£Ö−Ö (A) : �êú¸ü»Ö ´Öë ÛÃ¡ÖµÖÖë �úß ˆ““Ö ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ Æîü … 

 ŸÖ�Ôú (R) : �êú¸ü»Ö ´Öë ŸÖ»ÖÖ�ú ¤üß ¤ü¸ü †×¬Ö�ú Æîü … 

 ˆŒŸÖ ¤üÖê �ú£Ö−ÖÖë �êú ÃÖÓ¤ü³ÖÔ ´Öë, ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 

 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïüü †Öî̧ ü (R), (A) �úÖ ÃÖÆüß Ã¯ÖÂ™üß�ú¸ü*Ö Æîü … 
 (B) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü−ŸÖã (R), (A) �úÖ ÃÖüÆüß Ã¯ÖÂ™üß�ú¸ü*Ö −ÖÆüà Æîü … 
 (C) (A) ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) †ÃÖŸµÖ Æîü … 

 (D) (A) †ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) ÃÖŸµÖ Æîü … 
 

40. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü, ‹�ú †×³Ö�ú£Ö−Ö (A) †Öî̧ ü ¤æüÃÖ¸üÖ ŸÖ�Ôú (R) Æîü … 

 †×³Ö�ú£Ö−Ö (A) : ³ÖÖ¸üŸÖ ´Öë ‹�úÖÓ�úß ¯Ö×¸ü¾ÖÖ¸üÖë �úß ÃÖÓ0µÖÖ ²ÖœÍü ¸üÆüß Æîü … 

 ŸÖ�Ôú (R) : ³ÖÖ¸üŸÖ ´Öë ÛÃ¡ÖµÖÖë �úß ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ †“”ûß ÆüÖê ¸üÆüß Æîü … 
 ˆŒŸÖ ¤üÖê �ú£Ö−ÖÖë �êú ÃÖÓ¤ü³ÖÔ ´Öë, ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 

 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïüü †Öî̧ ü (R), (A) �úÖ ÃÖÆüß Ã¯ÖÂ™üß�ú¸ü*Ö Æîü … 
 (B) (A) †Öî̧ ü (R) ¤üÖê−ÖÖëê ÃÖÆüß Æïüü, ¯Ö¸ü−ŸÖã (R), (A) �úÖ ÃÖÆüß Ã¯ÖÂ™üß�ú¸ü*Ö −ÖÆüà Æîü … 
 (C) (A) ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) †ÃÖŸµÖ Æîü … 

 (D) (A) †ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) ÃÖŸµÖ Æîü … 
 

41. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ †−Öã�Îú´Ö Ø»Ö)Ö Ã¾ÖÖÃ£µÖ ÃÖæ“Ö�úÖÓ�ú �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ÃÖÆüß †Ö¸üÖêÆüß �Îú´Ö ´Öë Æîü ? 

 (A) ¸üÖ•ÖÃ£ÖÖ−Ö, ˆ›ÍüßÃÖÖ, †ÃÖ´Ö, ×²ÖÆüÖ¸ü 
 (B) ×²ÖÆüÖ¸ü, †ÃÖ´Ö, ˆ›ÍüßÃÖÖ, ¸üÖ•ÖÃ£ÖÖ−Ö 
 (C) ˆ›ÍüßÃÖÖ, ¸üÖ•ÖÃ£ÖÖ−Ö, ×²ÖÆüÖ¸ü, †ÃÖ´Ö 
 (D) †ÃÖ´Ö, ×²ÖÆüÖ ü̧, ¸üÖ•ÖÃ£ÖÖ−Ö, ˆ›ÍüßÃÖÖ 
 

42. −Öß“Öê �ãú”û ´ÖÆü¢¾Ö¯Öæ*ÖÔ ×¤ü¾ÖÃÖ †Öî̧ ü ˆ−Æëü ´Ö−ÖÖ−Öê �úÖê ×ŸÖ×£Ö ¤üß )Ö‡Ô Æîü … �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ 
²ÖŸÖÖ‡µÖê : 

 ÃÖæ“Öß-I 

(´ÖÆü¢¾Ö¯Öæ)ÖÔ ×¤ü¾ÖÃÖ) 

 ÃÖæ“Öß-II 

(´Ö−ÖÖ−Öê �úß ×ŸÖ×£Ö) 
I. ×¾Ö¿¾Ö Ã¾ÖÖÃ£µÖ ×¤ü¾ÖÃÖ (1) 21 ´ÖÖ“ÖÔ 
II. ×¾Ö¿¾Ö ‹›ËüÃÖ ×¤ü¾ÖÃÖ (2) 7 †¯ÖÏî»Ö 
III. ×¾Ö¿¾Ö •Ö−ÖÃÖÓ0µÖÖ ×¤ü¾ÖÃÖ (3) 11 •Öã»ÖÖ‡Ô 
IV. ¾µÖÃ�ú ¾µÖÛŒŸÖµÖÖë �úÖ †ÓŸÖ¸üÖÔÂ™ÒüßµÖ ×¤ü¾ÖÃÖ (4) 1 †Œ™æü²Ö¸ü 

  (5) 1 ×¤üÃÖ´²Ö¸ü 
 �úÖê›ü :  

   I II III IV  

 (A) (5) (1) (2) (4) 

 (B) (2) (5) (3) (4)    

 (C) (1) (3) (2) (5) 

 (D) (4) (3) (5) (2) 
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43. Match the given programmes with their years of commencement. Indicate the correct 

combination of answer according to the code : 

List-I List-II 

(Programmes) (Years of Commencement) 

I. National Leprosy Eradication Programme (1) 1976 

II. National AIDS Control Programme (2) 1983 

III. Pulse Polio Immunisation Programme (3) 1987 

IV. National AIDS Control Organisation (4) 1992 

 (5) 1995 

 Code :  

  I II III IV  

 (A) (3) (4) (2) (5) 

 (B) (1) (5) (3) (2)    

 (C) (4) (2) (3) (5) 

 (D) (2) (3) (5) (4) 

 

44. Match the given policies of India with their years of formulation. Indicate the correct 

combination of answer according to the code : 

   List-I 

 (Policies) 

 List-II 

(Years of Formulation) 

I. National Population Policy on Education (1) 1952 

II. National Rural Health Mission (2) 1976 

III. First National Population Policy (3) 1986 

IV. New National Health Policy (4) 2002 

  (5) 2005 

 Code :  

  I II III IV  

 (A) (3) (5) (2) (4) 

 (B) (4) (2) (5) (3)    

 (C) (5) (3) (4) (1) 

 (D) (2) (1) (3) (4) 
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43. ¯ÖÏ¤ü¢Ö �úÖµÖÔ�Îú´ÖÖë �úÖ ˆ−Ö�êú ¯ÖÏÖ¸ü´³Ö ÆüÖê−Öê �êú ¾ÖÂÖÔ �êú ÃÖÖ£Ö ×´Ö»ÖÖ−Ö �úß×•ÖµÖê … �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü �úÖ ÃÖÆüß 
ÃÖ´Öã““ÖµÖ ²ÖŸÖÖ‡µÖê : 

 ÃÖæ“Öß-I 

(�úÖµÖÔ�Îú´Ö) 

 ÃÖæ“Öß-II 

(¯ÖÏÖ¸ǘ ³Ö ÆüÖê−Öê �úÖ ¾ÖÂÖÔ) 

I. ¸üÖÂ™ÒüßµÖ �ãúÂšü ˆ−´Öæ»Ö−Ö �úÖµÖÔ�Îú´Ö (1) 1976 

II. ¸üÖÂ™ÒüßµÖ ‹›üËÃÖ ×−ÖµÖ−¡Ö*Ö �úÖµÖÔ�Îú´Ö (2) 1983 

III. ¯Ö»ÃÖ ¯ÖÖê×»ÖµÖÖê ¯ÖÏ×ŸÖ¸ü3Ö*Ö �úÖµÖÔ�Îú´Ö (3) 1987 

IV. ¸üÖÂ™ÒüßµÖ ‹›ËüÃÖ ×−ÖµÖ−¡Ö*Ö ÃÖÓ)Öšü−Ö (4) 1992 

  (5) 1995 

 �úÖê›ü :  

   I II III IV  

 (A) (3) (4) (2) (5) 

 (B) (1) (5) (3) (2)    

 (C) (4) (2) (3) (5) 

 (D) (2) (3) (5) (4) 

 

44. −Öß“Öê ¤üß )Ö‡Ô ³ÖÖ¸üŸÖ �úß −Öß×ŸÖµÖÖë �úÖê ˆ−Æëü ×−ÖÙ´ÖŸÖ �ú¸ü−Öê �êú ¾ÖÂÖÔ �êú ÃÖÖ£Ö ÃÖã́ Öê×»ÖŸÖ �úß×•ÖµÖê … �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ü 
�úÖ ÃÖÆüß ÃÖ´Öã““ÖµÖ ²ÖŸÖÖ‡µÖê : 

 ÃÖæ“Öß-I 

(−Öß×ŸÖµÖÖÑ) 

 ÃÖæ“Öß-II 

(×−ÖÙ´ÖŸÖ �ú¸ü−Öê �úÖ ¾ÖÂÖÔ) 

I. ×¿Ö3ÖÖ ¯Ö¸ü ¸üÖÂ™ÒüßµÖ •Ö−ÖÃÖÓ0µÖÖ −Öß×ŸÖ (1) 1952 

II. ¸üÖÂ™ÒüßµÖ )ÖÏÖ´Öß*Ö Ã¾ÖÖÃ£µÖ †×³ÖµÖÖ−Ö (2) 1976 

III. ¯ÖÏ£Ö´Ö ¸üÖÂ™ÒüßµÖ •Ö−ÖÃÖÓ0µÖÖ −Öß×ŸÖ (3) 1986 

IV. −ÖæŸÖ−Ö ¸üÖÂ™ÒüßµÖ Ã¾ÖÖÃ£µÖ −Öß×ŸÖ (4) 2002 

  (5) 2005 

 �úÖê›ü :  

   I II III IV  

 (A) (3) (5) (2) (4) 

 (B) (4) (2) (5) (3)    

 (C) (5) (3) (4) (1) 

 (D) (2) (1) (3) (4) 
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45. Match the given organisations with their place of headquarters. Indicate the correct 

combination of answer according to the code : 

 List-I 

(Organisations) 

   List-II 

(Place of Headquarters) 

I. SEARO (1) New York 

II. UNESCO (2) Bangkok 

III. FAO (3) New Delhi 

IV. UNICEF (4) Paris 

  (5) Rome 

 Code :  

  I II III IV  

 (A) (4) (3) (2) (5) 

 (B) (5) (4) (3) (1)    

 (C) (3) (4) (5) (1) 

 (D) (2) (4) (5) (3) 

 

 Read the passage below and answer the questions that follow, based on your 

understanding of the passage : 

  “Confronted with the fabled variety of India’s languages, religions, customs and 

peoples, the demographer is hard put to order and explain the data before him. To do so, 

he must shed his preconceptions, trying to look a new at the migration patterns 

themselves, however familiar some may be. Whenever possible the patterns should be 

matched with the surviving record of past cultural circulation.  

  An underlying order is first discernible in the pervasive “Indianness” of the 

phenomena observed, however diverse they may be. Indian civilization is a reality that 

expresses itself in the landscape. There is the complex socio-spatial order of its villages 

with their many castes, the close spacing of settlements, the unique ecological 

integration of man, land and cattle, the restraint toward “nature” that is a consequence 

of ethics of non-violence and many subtle conformations that overlie the obvious 

contrasts of hill and plain, desert, jungle, and rain forest.  

  The distinctiveness of Indian population and its civilization is commonly 

explained as the consequence of a virtual closure by mountain and sea of the 

rhomboidal South Asian space, although the conventional interpretation perhaps fails to 

emphasize enough dynamics of internal circulation over many centuries, the slow 

churning of the ocean of Indian life, which has created and sustained the underlying 

unity and the spread of Indian culture and religious roots to the far-east. The same 

tendency to neglect the significance of circulation also gives a somewhat static, 

deterministic cast to the primary spatial order into which the cultural data are put by 

many demographers and among others the anthropologists, the organization in a mosaic 

of regions. Countering this tendency, recent work by some historians and social 

scientists has begun to examine the processes whereby the regional pattern of language, 

culture and population dynamics has emerged, sometimes to be followed by political 

and economic integration of dimly recognized cultural history and by the appearance of 

a firmer popular consciousness of region.” 
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45. ×−Ö´−ÖÖÓ×�úŸÖ ÃÖÓ)Öšü−ÖÖë �úÖê ˆ−Ö�êú ¯ÖÏ¬ÖÖ−Ö �úÖµÖÖÔ»ÖµÖ �êú Ã£ÖÖ−Ö �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �úß×•ÖµÖê … �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ÃÖÆüß 
ÃÖ´Öã““ÖµÖ ²ÖŸÖÖ‡µÖê : 

 ÃÖæ“Öß-I 

(ÃÖÓ,Öšü−Ö) 
 ÃÖæ“Öß-II 

(¯ÖÏ¬ÖÖ−Ö �úÖµÖÖÔ»ÖµÖ �úÖ Ã£ÖÖ−Ö) 
I. ‹ÃÖ. ‡. ‹. †Ö¸ü. †Öê (1) −µÖæ µÖÖò�Ôú 
II. µÖæ−ÖêÃ�úÖê (2) ²Öï�úÖò�ú 
III. ‹±ú ‹ †Öê (3) −Ö‡Ô ×¤ü»»Öß 
IV. µÖæ×−ÖÃÖê±ú (4) ¯Öê×¸üÃÖ 

  (5) ¸üÖê´Ö 
 �úÖê›ü :  

   I II III IV  

 (A) (4) (3) (2) (5) 

 (B) (5) (4) (3) (1)    

 (C) (3) (4) (5) (1) 

 (D) (2) (4) (5) (3) 

 

 −Öß“Öê ×¤üµÖê ¯Ö×¸ü“”êû¤ü �úÖê ¯Ö×œÍüµÖê †Öî̧ ü †¯Ö−Öß ÃÖ´Ö—Ö †−ÖãÃÖÖ¸ü †Ö)Öê ×¤üµÖê ¯ÖÏ¿−ÖÖë �úÖ ˆ¢Ö¸ü ¤üß×•Ö‹ : 

  ³ÖÖ¸üŸÖ �úß ³ÖÖÂÖÖ†Öë, ¬Ö´ÖÖí, ¸üß×ŸÖ-×¸ü¾ÖÖ•ÖÖë †Öî̧ ü »ÖÖê)ÖÖë �êú ÃÖ´²Ö−¬Ö ´Öë �úÖ»¯Ö×−Ö�ú ×¾Ö×³Ö−−ÖŸÖÖ �êú ÃÖ´´Öã0Ö, 

•Ö−ÖÖÓ×�ú�úß ×¾Ö¤üÖë �êú ×»ÖµÖê ˆ¯Ö»Ö²¬Ö †ÖÓ�ú›ÍüÖë �úÖê �Îú´Ö²Ö¨ü �ú¸ü−ÖÖ †Öî̧ ü ˆÃÖ�úß ¾µÖÖ0µÖÖ �ú¸ü−ÖÖ �ú×šü−Ö Æîü … ‹êÃÖÖ �ú¸ü−Öê �êú 

×»ÖµÖê µÖÆü •Öºþ¸üß Æîü ×�ú ¾ÖÖê †¯Ö−Öê ¯Öæ¾ÖÔ ¬ÖÖ¸ü*ÖÖ†Öë �úÖê ÃÖ´ÖÖ¯ŸÖ �ú¸ü ¤ëü †Öî̧ ü ¯ÖÏ¾ÖÃÖ−Ö �êú −Ö´Öæ−ÖÖë �úÖê −ÖµÖê ×ÃÖ¸êü ÃÖê ¤êü0Öë, “ÖÖÆêü 

�ãú”û −Ö´Öæ−ÖÖë ÃÖê ¾ÖÖê ×�úŸÖ−ÖÖ ³Öß ¯Ö×¸ü×“ÖŸÖ Æïü … •Ö²Ö ³Öß ÃÖ´³Ö¾Ö ÆüÖê, −Ö´Öæ−ÖÖë �úÖê ×¾Ö)ÖŸÖ ÃÖÖÓÃ�éú×ŸÖ�ú ¯ÖÏ“Ö»Ö−Ö �êú ²Ö“Ö ¸üÆêü 

×»Ö×0ÖŸÖ ¯ÖÏ´ÖÖ*ÖÖë �êú ÃÖÖ£Ö ÃÖã́ Öê×»ÖŸÖ �ú¸ü−ÖÖ “ÖÖ×Æü‹ … 

  †ÓŸÖÙ−Ö×ÆüŸÖ �Îú´Ö, ÃÖ¾ÖÔ¯ÖÏ£Ö´Ö, †¾Ö»ÖÖê�ú−Ö ×�ú‹ ¯Ö×¸¥üû¿µÖ, “ÖÖÆêü ×�úŸÖ−ÖÖ ³Öß ×¾Ö×¾Ö¬Ö Æîü, �úß ¾µÖÖ¯Ö�ú ³ÖÖ¸üŸÖßµÖŸÖÖ 

´Öë ¥üûÛÂ™ü)ÖÖê“Ö¸ü Æãü†Ö … ³ÖÖ¸üŸÖßµÖ ÃÖ³µÖŸÖÖ ¾ÖÖÃŸÖ×¾Ö�úŸÖÖ Æîü •ÖÖê †¯Ö−Öê †Ö¯Ö�úÖê ³Öæ¥üû¿µÖ ´Öë ¾µÖŒŸÖ �ú¸üŸÖß Æîü … ˆÃÖ�êú )ÖÖÑ¾ÖÖë, 

•ÖÆüÖÑ ²ÖÆãüŸÖ ÃÖß •ÖÖ×ŸÖµÖÖÑ ÃÖ´Öß¯ÖÃ£Ö †ÓŸÖ¸üÖ»ÖÖë �úß ²ÖÛÃŸÖµÖÖÑ, ´ÖÖ−Ö¾Ö, ³Öæ×´Ö †Öî̧ ü ´Ö¾Öê×¿ÖµÖÖë �úÖ †−ÖæšüÖ ¯ÖÖ×¸üÛÃ£Ö×ŸÖ�ú 

‹�úß�ú¸ü*Ö, ¯ÖÏ�éú×ŸÖ �êú ¯ÖÏ×ŸÖ ÃÖÓµÖ´Ö •ÖÖê †Ó×ÆüÃÖÖ �êú †Ö“ÖÖ¸ü �úÖ ¯Ö×¸ü*ÖÖ´Ö Æîü, †Öî̧ ü ¯ÖÆüÖ›Íüß †Öî̧ ü ´Öî¤üÖ−ÖÖë, ¸êü×)ÖÃŸÖÖ−Ö, •ÖÓ)Ö»Ö 

†Öî̧ ü ¯ÖÏ“Öã̧ ü-¾ÖÂÖÖÔ-¾Ö−Ö �êú ÃÖãÃ¯ÖÂ™ü †−ŸÖ¸üÖë ¯Ö¸ü ÛÃ£ÖŸÖ ÃÖæ3´Ö ¸ü“Ö−ÖÖµÖë Æïü, �úÖ ÃÖÖ´ÖÖ×•Ö�ú Ã£ÖÖ×−Ö�ú �Îú´Ö •Ö×™ü»Ö Æîü …  

  ³ÖÖ¸üŸÖßµÖ •Ö−ÖÃÖÓ0µÖÖ †Öî̧ ü ˆÃÖ�úß ÃÖ³µÖŸÖÖ �úß ×¾Ö×¿ÖÂ™üŸÖÖ �úÖê, †Ö´Ö ŸÖÖî̧ ü ¯Ö¸ü, †ÃÖ´Ö“ÖŸÖã³ÖãÔ•Öß (¸üÖò́ Ö²ÖÖòµÖ›ü»Ö) 

¤ü×3Ö*Öß ‹×¿ÖµÖÖ‡Ôü Ã£ÖÖ−Ö �êú ¯Ö¾ÖÔŸÖ †Öî̧ ü ÃÖ´Öã¦ü «üÖ¸üÖ ¯Öæ̧ êü ÃÖ´ÖÖ¯Ö−Ö �êú ¯Ö×¸ü*ÖÖ´Ö �êú ºþ¯Ö ´Öë Ã¯ÖÂ™ü ×�úµÖÖ •ÖÖŸÖÖ Æîü, µÖª×¯Ö 

¯ÖÖ¸ü´¯Ö×¸ü�ú ¾µÖÖ0µÖÖ, ²ÖÆãüŸÖ ÃÖß ¿ÖŸÖÖÛ²¤üµÖÖë ÃÖê “Ö»Öê †Ö ¸üÆüß †ÖÓŸÖ×¸ü�ú ¯Ö×¸üÃÖÓ“Ö¸ü*Ö �úß )ÖŸµÖÖŸ´Ö�úŸÖÖ, ³ÖÖ¸üŸÖßµÖ •Öß¾Ö−Ö 

ÃÖÖ)Ö¸ü �úÖ ¬Öß´ÖÖ ´Ö−£Ö−Ö •ÖÖê †−ŸÖÙ−Ö×ÆüŸÖ ‹�úŸÖÖ †Öî̧ ü ˆÃÖ�úß ÃÖÓÃ�éú×ŸÖ †Öî̧ ü ¬ÖÖÙ´Ö�ú •Ö›ÍüÖë �êú ÃÖã¤æü¸ü-¯Öæ¾ÖÔ �úß †Öȩ̂ ü ¯ÖÏÃÖÖ¸ü 

�úÖê ÃÖé×•ÖŸÖ �ú¸üŸÖÖ Æîü †Öî̧ ü ²Ö−ÖÖµÖê ¸ü0ÖŸÖÖ Æîü, ¯Ö¸ü ¯Öæ̧ üÖ •ÖÖȩ̂ ü ›üÖ»Ö−Öê ´Öë ¿ÖÖµÖ¤ü †ÃÖ±ú»Ö Æãü‡Ô Æîü … ¯Ö×¸üÃÖÓ“Ö¸ü*Ö �êú ´ÖÆüŸ¾Ö �úß 

ˆ¯Öê3ÖÖ �ú¸ü−Öê �úß ¾ÖÆüß ¯ÖÏ¾Öé×ŸÖ, ´Öã0µÖ Ã£ÖÖ×−Ö�ú �Îú´Ö �úÖê �ãú”û-�ãú”û Ã£Öî×ŸÖ�ú, ×−Ö¿“ÖµÖÖŸ´Ö�ú †Ö¾Ö¸ü*Ö ³Öß ¤êüŸÖß Æîü ×•ÖÃÖ´Öë 

²ÖÆãüŸÖ ÃÖê ³Öæ)ÖÖê»Ö×¾Ö¤üÖë †Öî̧ ü †−µÖ ´Öë ¯ÖÏ¤êü¿ÖÖë �êú ×“Ö¡Ö ´Öë ´ÖÖ−Ö¾Ö ¿ÖÖÛÃ¡ÖµÖÖë −Öê ÃÖÖÓÃ�éú×ŸÖ�ú †ÖÓ�ú›ÍüÖë �úÖ ˆ¯ÖµÖÖê)Ö ×�úµÖÖ Æîü … 

‡ÃÖ ¯ÖÏ¾Öé×ŸÖ �úß •Ö¾ÖÖ²Öß ¯ÖÏ×ŸÖ×�ÎúµÖÖ ´Öë, �ãú”û ‡×ŸÖÆüÖÃÖ�úÖ¸üÖë †Öî̧ ü ÃÖÖ´ÖÖ×•Ö�ú ¾Öî–ÖÖ×−Ö�úÖë �úÖ †Ö¬Öã×−Ö�ú �úÖµÖÔ ˆ−Ö 

¯ÖÏ×�ÎúµÖÖ†Öë �úß ¯Ö¸üß3ÖÖ �ú¸ü−Öê »Ö)ÖÖ Æîü ×•ÖÃÖ�êú «üÖ¸üÖ ³ÖÖÂÖÖ, ÃÖÓÃ�éú×ŸÖ †Öî̧ ü •Ö−ÖÃÖÓ0µÖÖ )Ö×ŸÖ�úß �úÖ ¯ÖÏÖ¤êü×¿Ö�ú ×“Ö¡Ö ˆ³Ö¸üÖ  

Æîü … ×•ÖÃÖÃÖê †Ã¯ÖÂ™ü (´Ö×¨ü´Ö) ´ÖÖ−µÖŸÖÖ ¯ÖÏÖ¯ŸÖ ÃÖÓÃ�éú×ŸÖ�ú ‡×ŸÖÆüÖÃÖ �úÖ ¸üÖ•Ö−Öî×ŸÖ�ú †Öî̧ ü †ÖÙ£Ö�ú ‹�úß�ú¸ü*Ö ÆüÖê)ÖÖ †Öî̧ ü 

¯ÖÏ¤êü¿Ö �úß •µÖÖ¤üÖ ÃÖã¥üœÍü »ÖÖê�ú×¯ÖÏµÖ “ÖêŸÖ−ÖÖ ¯ÖÏ�ú™ü ÆüÖê)Öß … 
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46. Which one of the following attributes reflects dynamics of Indian civilization ? 

 (A) Caste 

 (B) Natural barriers 

 (C) Unity in Diversity 

 (D) Language 

 

47. Which one of the following attributes helps to erase regional boundaries ? 

 (A) Language 

 (B) People to people contact 

 (C) Religious practices 

 (D) Food habits 

 

48. According to the author which one of the following attributes does not contribute to the 

formation of a region ? 

 (A) Language 

 (B) Religion 

 (C) Political Economic Processes  

 (D) Spatial Contiguity 

 

49. As per the passage, which one of the following is not true in the case of villages in India ? 

 (A) Many castes 

 (B) Close spacing of settlements 

 (C) Ecological integration 

 (D) Multiple languages 

 

50. The tone of the passage can best be described as 

 (A) Analytical and optimistic 

 (B) Biased and unprofessional 

 (C) Critical and discouraging 

 (D) Tentative and inconclusive  
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46. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖß ×¾Ö¿ÖêÂÖŸÖÖ ³ÖÖ¸üŸÖßµÖ ÃÖ³µÖŸÖÖ �úß )ÖŸµÖÖŸ´Ö�úŸÖÖ ¯ÖÏ�ú™ü �ú¸üŸÖß Æîü ? 

 (A) •ÖÖ×ŸÖ 

 (B) ¯ÖÏÖ�éú×ŸÖ�ú †¾Ö¸üÖê¬Ö 

 (C) ×¾Ö×¾Ö¬ÖŸÖÖ ´Öë ‹�úŸÖÖ 

 (D) ³ÖÖÂÖÖ 

 

47. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖß ×¾Ö¿ÖêÂÖŸÖÖ 3Öê¡ÖßµÖ ¯Ö×¸üÃÖß´ÖÖ†Öë �úÖê ÃÖ´ÖÖ¯ŸÖ �ú¸ü−Öê ´Öë ÃÖÆüÖµÖŸÖÖ �ú¸üŸÖß Æîü ? 

 (A) ³ÖÖÂÖÖ 

 (B) »ÖÖê)ÖÖë �êú ²Öß“Ö ÃÖ´¯Ö�Ôú 

 (C) ¬ÖÖÙ´Ö�ú ×¸ü¾ÖÖ•Ö 

 (D) 0ÖÖ−Öê �úß †Ö¤üŸÖë 

 

48. »Öê0Ö�ú �êú †−ÖãÃÖÖ¸ü ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖß ×¾Ö¿ÖêÂÖŸÖÖ 3Öê¡Ö �êú ×−Ö´ÖÖÔ*Ö ´Öë µÖÖê)Ö¤üÖ−Ö −ÖÆüà ¤êüŸÖß Æîü ? 

 (A) ³ÖÖÂÖÖ 

 (B) ¬Ö´ÖÔ 

 (C) ¸üÖ•Ö−Öî×ŸÖ�ú †ÖÙ£Ö�ú ¯ÖÏ×�ÎúµÖÖµÖë 

 (D) Ã£ÖÖ×−Ö�ú ÃÖ´Öß¯ÖŸÖÖ 

 

49. ¯Ö×¸ü“”êû¤ü �êú †−ÖãÃÖÖ¸ü, ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ³ÖÖ¸üŸÖ ´Öë )ÖÖÑ¾ÖÖë �êú ´ÖÖ´Ö»Öê ´Öë ÃÖŸµÖ −ÖÆüà Æîü ? 

 (A) ²ÖÆãüŸÖ ÃÖß •ÖÖ×ŸÖµÖÖÑ 

 (B) ²ÖÛÃŸÖµÖÖë �úÖ ÃÖ´Öß¯ÖÃ£Ö †ÓŸÖ¸üÖ»Ö 

 (C) ¯ÖÖ×¸üÛÃ£Ö×ŸÖ�ú ‹�úß�ú¸ü*Ö 

 (D) ²ÖÆãü ³ÖÖÂÖÖ‹Ñ 

 

50. ¯Ö×¸ü“”êû¤ü �úÖ ³ÖÖ¾Ö Æîü 

 (A) ×¾Ö¿»ÖêÂÖ*ÖÖŸ´Ö�ú †Öî̧ ü †Ö¿ÖÖ¾ÖÖ¤üß 

 (B) ¯Öæ¾ÖÖÔ)ÖÏÆü µÖãŒŸÖ †Öî̧ ü †¾µÖÖ¾ÖÃÖÖ×µÖ�ú 

 (C) ×¾Ö¾Öê“Ö−ÖÖŸ´Ö�ú †Öî̧ ü ÆüŸÖÖêŸÃÖÖÆü•Ö−Ö�ú 

 (D) †ÓŸÖ×¸ü´Ö †Öî̧ ü †×−Ö*ÖÖÔµÖ�ú 
_____________
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Space For Rough Work 
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